



A NEW CHARACTERIZATION OF ABSOLUTE SUMMABILITY FACTORS

G. CANAN HAZAR GÜLEÇ¹, MERVE İLKHAN^{2,*}

¹Department of Mathematics, Pamukkale University, Denizli, Turkey

²Department of Mathematics, Düzce University, Düzce, Turkey

Abstract. By (A, B) , we denote the set of all sequences $\lambda = (\lambda_n)$ such that $\sum x_n \lambda_n$ is summable B whenever $\sum x_n$ is summable A , where A and B are two methods of summability. In this paper, we characterize the sets $(|\overline{N}, p_n, u_n|_k, |\Phi|)$, $(|\Phi, u_n|_k, |\overline{N}, p_n|)$ and $(|\overline{N}, p_n|, |\Phi, u_n|_k)$, $(|\Phi|, |\overline{N}, p_n, u_n|_k)$ for $1 \leq k < \infty$.

Keywords. Sequence spaces; Absolute Riesz summability; Absolute Euler totient summability; Summability factors

1. INTRODUCTION

If a sequence λ has the property that $\sum x_n \lambda_n$ is summable B whenever $\sum x_n$ is summable A , where A and B are two methods of summability, then we say that λ is a summability factor of type (A, B) and we write $\lambda \in (A, B)$. In the special case when $\lambda = e$, $e \in (A, B)$ gives the comparisons of these methods, i.e. $A \subset B$, where $e = (1, 1, \dots)$. In the literature, there are several papers concerning absolute summability factors of infinite series. For some of them, we refer to [1, 2, 3, 4, 5, 6, 7, 8, 9, 10].

In [11], Sarigöl has established the result dealing with summability factor of type $(|C, \alpha|_k, |\overline{N}, p_n|)$ for $\alpha > -1$ and $k > 1$, which extends some well-known results in [4, 5, 7, 8]. As a generalization of this study, Hazar Güleç and Sarigöl investigated absolute summability factor relations including Nörlund and weighted means in [12].

In addition to all these classical methods, we consider the Euler totient matrix and introduce a new absolute summability method. We obtain summability factor theorems of the type $(|\overline{N}, p_n, u_n|_k, |\Phi|)$, $(|\Phi, u_n|_k, |\overline{N}, p_n|)$ and $(|\overline{N}, p_n|, |\Phi, u_n|_k)$, $(|\Phi|, |\overline{N}, p_n, u_n|_k)$ for $1 \leq k < \infty$.

*Corresponding author.

E-mail addresses: gchazar@pau.edu.tr (G.C. Hazar Güleç), merveilkhan@duzce.edu.tr (M. İlkan).

Received April 20, 2020; Accepted May 30, 2020.

2. PRELIMINARIES AND BACKGROUND

Let ω be the space of all real or complex valued sequences. Any subspace of ω is called a sequence space. The space of all k -absolutely summable sequences, that is,

$$\ell_k = \{x = (x_n) \in \omega : \sum_{n=1}^{\infty} |x_n|^k < \infty\}$$

is an example for classical sequence spaces.

Let $\sum x_n$ be an infinite series with the sequence of partial sums (s_n) . Given any infinite matrix $A = (a_{nj})$ with real or complex entries, the A -transform of the sequence $s = (s_n)$ is the sequence $A(s) = (A_n(s))$ defined by

$$A_n(s) = \sum_{j=1}^{\infty} a_{nj} s_j$$

provided that the series on the right side are convergent for all $n \in \mathbb{N} = \{1, 2, 3, \dots\}$.

A series $\sum x_n$ is said to be summable $|A, u_n|_k$ for $k \geq 1$ if

$$\sum_{n=1}^{\infty} u_n^{k-1} |A_n(s) - A_{n-1}(s)|^k < \infty$$

holds ([13]). Here and what follows, (u_n) will be a sequence of positive constants. If A is the Riesz matrix (\bar{N}, p_n) , the summability $|A, u_n|_k$ is reduced to $|\bar{N}, p_n, u_n|_k$ ([10]). In particular, for $u_n = \frac{P_n}{p_n}$ and $u_n = n$, we get two special absolute summabilities, $|\bar{N}, p_n|_k$ summability introduced in [2] and $|R, p_n|_k$ summability introduced in [14], respectively. By a Riesz matrix, we mean the one, which is such that

$$a_{ni} = \begin{cases} \frac{p_i}{P_n} & , \quad 0 \leq i \leq n, \\ 0 & , \quad i > n, \end{cases}$$

where (p_i) is a sequence of positive real constants and $P_n = p_0 + p_1 + \dots + p_n \rightarrow \infty$ as $n \rightarrow \infty$ with $P_n \neq 0, P_{-1} = p_{-1} = 0$. For $(p_n) = e$, each of the two summabilities $|\bar{N}, p_n|_k$ and $|R, p_n|_k$ are the same as $|C, 1|_k$ summability in Flett's notation [15].

For a given $m \in \mathbb{N}$ with $m > 1$, Euler totient function φ is defined as the number of positive integers less than m that are relatively prime to m and $\varphi(1) = 1$. If two numbers m and n are coprime, then $\varphi(mn) = \varphi(m)\varphi(n)$. Also, the relation $m = \sum_{d|m} \varphi(d)$ holds. By the Euler totient matrix $\Phi = (\phi_{ni})$, we mean the one, which is such that

$$\phi_{ni} = \begin{cases} \frac{\varphi(i)}{n} & , \quad \text{if } i | n \\ 0 & , \quad \text{if } i \nmid n. \end{cases}$$

Schoenberg [16] proved that this matrix is regular and defined that a sequence (x_n) of real numbers is φ -convergent to $\xi \in \mathbb{R}$ if

$$\lim_{n \rightarrow \infty} \frac{1}{n} \sum_{d|n} \varphi(d) x_d = \xi.$$

This regular matrix is called as Euler totient matrix operator in [17] and some new sequence spaces were introduced by using this matrix. Here we note that if we take A as Euler totient

matrix, then we obtain the absolute summability method $|\Phi, u_n|_k$. If we take $u_n = 1$ for all values n and $k = 1$ then, we will denote $|\Phi, 1|_1$ as $|\Phi|$.

For any given $m \in \mathbb{N}$ with $m > 1$, Möbius function μ is defined as

$$\mu(m) = \begin{cases} (-1)^r, & \text{if } m = p_1 p_2 \dots p_r, \text{ where } p_1, p_2, \dots, p_r \text{ are} \\ & \text{non-equivalent prime numbers} \\ 0, & \text{if } p^2 \mid m \text{ for some prime number } p \end{cases}$$

and $\mu(1) = 1$. If two numbers m and n are coprime, then $\mu(mn) = \mu(m)\mu(n)$. Also, the relation $\sum_{d|m} \mu(d) = 0$ holds except for $m = 1$.

3. SUMMABILITY FACTOR RELATIONS

In this section, given an arbitrary positive sequence (p_n) , we characterize the sets $(|\Phi, u_n|_k, |\overline{N}, p_n|)$, $(|\overline{N}, p_n, u_n|_k, |\Phi|)$, $(|\overline{N}, p_n|, |\Phi, u_n|_k)$, $(|\Phi|, |\overline{N}, p_n, u_n|_k)$ for $1 < k < \infty$ and $(|\overline{N}, p_n|, |\Phi|)$, $(|\Phi|, |\overline{N}, p_n|)$. Also we give some new results as special cases.

In order to prove our main results, we need the following lemmas. Note that we use the notation ℓ instead of ℓ_1 .

Lemma 3.1. [11] *Let $1 < k < \infty$. Then, $A \in (\ell_k, \ell)$ if and only if*

$$\sum_{v=0}^{\infty} \left(\sum_{n=0}^{\infty} |a_{nv}| \right)^{k^*} < \infty$$

holds, here and what follows, k^ denotes the conjugate of k , i.e., $1/k + 1/k^* = 1$, and $1/k^* = 0$ for $k = 1$.*

Lemma 3.2. [18] *Let $1 \leq k < \infty$. Then, $A \in (\ell, \ell_k)$ if and only if*

$$\sup_v \sum_{n=0}^{\infty} |a_{nv}|^k < \infty$$

holds.

Theorem 3.3. *Let $1 < k < \infty$. A sequence $\lambda \in (|\Phi, u_n|_k, |\overline{N}, p_n|)$ if and only if*

$$\sum_{i=1}^{\infty} \left(\sum_{n=i}^{\infty} \left| \frac{p_n u_i^{-1/k^*}}{P_n P_{n-1}} \sum_{j=i}^n P_{j-1} \lambda_j \sum_{r=i}^j \delta_{jr} \right| \right)^{k^*} < \infty,$$

where

$$\delta_{jr} = \begin{cases} \frac{\mu\left(\frac{j}{r}\right) r}{\varphi(j)}, & r \mid j, \\ -\frac{\mu\left(\frac{j-1}{r}\right) r}{\varphi(j-1)}, & r \mid j-1, \\ \frac{\mu(j)}{\varphi(j)} - \frac{\mu(j-1)}{\varphi(j-1)}, & r = 1, \\ 0, & \text{otherwise.} \end{cases} \quad (3.1)$$

Proof. Let (t_n) and (\tilde{t}_n) denote the n th Euler totient mean of the series $\sum x_n$ and the n th Riesz mean of the series $\sum \lambda_n x_n$, respectively. Since (s_n) is the sequence of partial sums of infinite series $\sum x_n$, we can write the n th Euler totient mean (t_n) of the sequence (s_n) by

$$t_n = \sum_{i=1}^{\infty} \phi_{ni} s_i = \sum_{i=1}^n \phi_{ni} \sum_{j=1}^i x_j = \sum_{j=1}^n x_j \sum_{\substack{i=j \\ i|n}}^n \frac{\phi(i)}{n}$$

and

$$\tilde{t}_n = \frac{1}{P_n} \sum_{j=0}^n (P_n - P_{j-1}) x_j \lambda_j.$$

Then we define the sequences (T_n) and (\tilde{T}_n) as

$$\begin{aligned} T_n &= u_n^{1/k^*} (t_n - t_{n-1}) \\ &= u_n^{1/k^*} \left[\sum_{j=1}^{n-1} x_j \left(\sum_{\substack{i=j \\ i|n}}^n \frac{\phi(i)}{n} - \sum_{\substack{i=j \\ i|n-1}}^{n-1} \frac{\phi(i)}{n-1} \right) + x_n \frac{\phi(n)}{n} \right] \quad (n \geq 2), \quad T_1 = u_1^{1/k^*} x_1 \end{aligned} \quad (3.2)$$

and

$$\tilde{T}_n = \tilde{t}_n - \tilde{t}_{n-1} = \frac{P_n}{P_n P_{n-1}} \sum_{j=1}^n P_{j-1} x_j \lambda_j \quad (n \geq 1), \quad \tilde{T}_0 = x_0 \lambda_0.$$

By virtue of (3.2), if we write $y_n = \sum_{j=1}^n u_j^{-1/k^*} T_j$, then

$$\begin{aligned} x_n &= \sum_{j|n} \frac{\mu\left(\frac{n}{j}\right) j}{\phi(n)} y_j - \sum_{j|n-1} \frac{\mu\left(\frac{n-1}{j}\right) j}{\phi(n-1)} y_j = \sum_{r=1}^n \delta_{nr} y_r \\ &= \sum_{r=1}^n \delta_{nr} \sum_{j=1}^r u_j^{-1/k^*} T_j = \sum_{j=1}^n \left(\sum_{r=j}^n \delta_{nr} u_j^{-1/k^*} \right) T_j, \end{aligned} \quad (3.3)$$

where $\delta = (\delta_{nr})$ is as in (3.1). Then, using (3.3), we get, for $n \geq 1$,

$$\begin{aligned} \tilde{T}_n &= \frac{P_n}{P_n P_{n-1}} \sum_{j=1}^n P_{j-1} x_j \lambda_j = \frac{P_n}{P_n P_{n-1}} \sum_{j=1}^n P_{j-1} \lambda_j \sum_{i=1}^j \left(\sum_{r=i}^j \delta_{jr} u_i^{-1/k^*} \right) T_i \\ &= \frac{P_n}{P_n P_{n-1}} \sum_{i=1}^n \sum_{j=i}^n P_{j-1} \lambda_j \left(\sum_{r=i}^j \delta_{jr} u_i^{-1/k^*} \right) T_i = \sum_{i=1}^n f_{ni} T_i, \end{aligned}$$

where the matrix $F = (f_{ni})$ is defined by

$$f_{ni} = \begin{cases} \frac{P_n u_i^{-1/k^*}}{P_n P_{n-1}} \sum_{j=i}^n P_{j-1} \lambda_j \sum_{r=i}^j \delta_{jr}, & 1 \leq i \leq n, \\ 0, & i > n. \end{cases}$$

Then, $\sum \lambda_n x_n$ is summable $|\bar{N}, p_n|$ whenever $\sum x_n$ is summable $|\Phi, u_n|_k$ if and only if $\tilde{T} = (\tilde{T}_n) \in \ell$ whenever $T = (T_n) \in \ell_k$, or equivalently, the matrix $F = (f_{ni})$ maps ℓ_k into ℓ , i.e., $F \in (\ell_k, \ell)$. Thus, it follows from Lemma 3.1 that $F \in (\ell_k, \ell)$ iff

$$\sum_{i=1}^{\infty} \left(\sum_{n=i}^{\infty} \left| \frac{p_n u_i^{-1/k^*}}{P_n P_{n-1}} \sum_{j=i}^n P_{j-1} \lambda_j \sum_{r=i}^j \delta_{jr} \right| \right)^{k^*} < \infty.$$

This completes the proof. \square

Note that $e \in (|\Phi, u_n|_k, |\bar{N}, p_n|)$ leads us to a comparison of summability fields of methods $|\Phi, u_n|_k$ and $|\bar{N}, p_n|$, where $e = (1, 1, \dots)$. That is, the following result gives us necessary and sufficient condition for $|\Phi, u_n|_k \subset |\bar{N}, p_n|$.

Corollary 3.4. *Let $1 < k < \infty$. Then, $e \in (|\Phi, u_n|_k, |\bar{N}, p_n|)$ if and only if*

$$\sum_{i=1}^{\infty} \left(\sum_{n=i}^{\infty} \left| \frac{p_n u_i^{-1/k^*}}{P_n P_{n-1}} \sum_{j=i}^n P_{j-1} \sum_{r=i}^j \delta_{jr} \right| \right)^{k^*} < \infty,$$

where $\delta = (\delta_{jr})$ is defined in (3.1).

Theorem 3.5. *Let $1 < k < \infty$. A sequence $\lambda \in (|\bar{N}, p_n, u_n|_k, |\Phi|)$ if and only if*

$$\sum_{j=1}^{\infty} \left(\sum_{n=j}^{\infty} |b_{nj}| \right)^{k^*} < \infty,$$

where

$$b_{nj} = \begin{cases} \frac{u_j^{-1/k^*}}{P_j} (\lambda_j \Omega_{nj} P_j - \Omega_{n,j+1} P_{j-1} \lambda_{j+1}), & 1 \leq j \leq n-1, \\ \frac{\lambda_n \Omega_{nn} u_n^{-1/k^*} P_n}{P_n}, & j = n, \\ 0, & j > n \end{cases} \quad (3.4)$$

and

$$\Omega_{nj} = \begin{cases} \sum_{i=j}^n \frac{\varphi(i)}{n} - \sum_{i=j}^{n-1} \frac{\varphi(i)}{n-1}, & 1 \leq j \leq n-1, \\ \frac{\varphi(n)}{n}, & j = n, \\ 0, & j > n. \end{cases} \quad (3.5)$$

Proof. Let (\tilde{t}_n) and (t_n) denote the n th Riesz mean of the series $\sum x_n$ and the n th Euler totient mean of the series $\sum \lambda_n x_n$, respectively. Since (\tilde{s}_n) is the sequence of partial sums of infinite series $\sum \lambda_n x_n$, then we can write the sequences (\tilde{t}_n) and (t_n) by

$$\tilde{t}_n = \frac{1}{P_n} \sum_{j=0}^n (P_n - P_{j-1}) x_j$$

and

$$t_n = \sum_{i=1}^{\infty} \phi_{ni} \tilde{s}_i = \sum_{i=1}^n \phi_{ni} \sum_{j=1}^i x_j \lambda_j = \sum_{j=1}^n x_j \lambda_j \sum_{\substack{i=j \\ i|n}}^n \frac{\varphi(i)}{n},$$

respectively. Now, we define the sequences (\tilde{T}_n) and (T_n) as

$$\tilde{T}_n = u_n^{1/k^*} (\tilde{t}_n - \tilde{t}_{n-1}) = \frac{u_n^{1/k^*} P_n}{P_n P_{n-1}} \sum_{j=1}^n P_{j-1} x_j, n \geq 1 \text{ and } \tilde{T}_0 = x_0 \quad (3.6)$$

and

$$\begin{aligned} T_n &= t_n - t_{n-1} \\ &= \left[\sum_{j=1}^{n-1} x_j \lambda_j \left(\sum_{\substack{i=j \\ i|n}}^n \frac{\varphi(i)}{n} - \sum_{\substack{i=j \\ i|n-1}}^{n-1} \frac{\varphi(i)}{n-1} \right) + x_n \lambda_n \frac{\varphi(n)}{n} \right], n \geq 2 \text{ and } T_1 = \lambda_1 x_1. \end{aligned} \quad (3.7)$$

By virtue of (3.6), we write

$$x_n = \frac{u_n^{-1/k^*} P_n}{p_n} \tilde{T}_n - \frac{u_{n-1}^{-1/k^*} P_{n-2}}{p_{n-1}} \tilde{T}_{n-1}, n \geq 1, \text{ and } x_0 = \tilde{T}_0. \quad (3.8)$$

Also we can write (3.7) by

$$\begin{aligned} T_n &= \sum_{j=1}^{n-1} x_j \lambda_j \left(\sum_{\substack{i=j \\ i|n}}^n \frac{\varphi(i)}{n} - \sum_{\substack{i=j \\ i|n-1}}^{n-1} \frac{\varphi(i)}{n-1} \right) + x_n \lambda_n \frac{\varphi(n)}{n} \\ &= \sum_{j=1}^{n-1} x_j \lambda_j \Omega_{nj} + x_n \lambda_n \Omega_{nn}, \end{aligned}$$

where Ω_{nj} is defined by (3.5). Then, using (3.8), we get, for $n \geq 1$,

$$\begin{aligned} T_n &= \sum_{j=1}^{n-1} x_j \lambda_j \Omega_{nj} + x_n \lambda_n \Omega_{nn} \\ &= \sum_{j=1}^{n-1} \lambda_j \Omega_{nj} \left(\frac{u_j^{-1/k^*} P_j}{P_j} \tilde{T}_j - \frac{u_{j-1}^{-1/k^*} P_{j-2}}{P_{j-1}} \tilde{T}_{j-1} \right) \\ &\quad + \lambda_n \Omega_{nn} \left(\frac{u_n^{-1/k^*} P_n}{p_n} \tilde{T}_n - \frac{u_{n-1}^{-1/k^*} P_{n-2}}{p_{n-1}} \tilde{T}_{n-1} \right) \\ &= \lambda_n \Omega_{nn} \frac{u_n^{-1/k^*} P_n}{p_n} \tilde{T}_n + \sum_{j=1}^{n-1} \frac{u_j^{-1/k^*}}{P_j} (\lambda_j \Omega_{nj} P_j - \Omega_{n,j+1} P_{j-1} \lambda_{j+1}) \tilde{T}_j \\ &= \sum_{j=1}^n b_{nj} \tilde{T}_j \end{aligned}$$

where $B = (b_{nj})$ is as in (3.4). Then, $\sum \lambda_n x_n$ is summable $|\Phi|$ whenever $\sum x_n$ is summable $|\bar{N}, p_n, u_n|_k$ if and only if $T = (T_n) \in \ell$ whenever $\tilde{T} = (\tilde{T}_n) \in \ell_k$, or equivalently, the matrix $B = (b_{nj})$ maps ℓ_k into ℓ , i.e., $B \in (\ell_k, \ell)$. Thus, it follows from Lemma 3.1 that $B \in (\ell_k, \ell)$ iff

$$\sum_{j=1}^{\infty} \left(\sum_{n=j}^{\infty} |b_{nj}| \right)^{k^*} < \infty,$$

which is asserted. \square

Corollary 3.6. *Let $1 < k < \infty$. Then, $e \in (|\bar{N}, p_n, u_n|_k, |\Phi|)$ if and only if*

$$\sum_{j=1}^{\infty} \left(\sum_{n=j}^{\infty} |b_{nj}| \right)^{k^*} < \infty,$$

where

$$b_{nj} = \begin{cases} \frac{u_j^{-1/k^*}}{p_j} (\Omega_{nj} p_j - \Omega_{n,j+1} p_{j-1}), & 1 \leq j \leq n-1, \\ \frac{\Omega_{nn} u_n^{-1/k^*} p_n}{p_n}, & j = n, \\ 0, & j > n, \end{cases}$$

where Ω_{nj} is defined by (3.5).

Theorem 3.7. *Let $1 < k < \infty$. The sequence $\lambda \in (|\Phi|, |\bar{N}, p_n, u_n|_k)$ if and only if*

$$\sup_i \sum_{n=i}^{\infty} \left| \frac{u_n^{1/k^*} p_n}{p_n p_{n-1}} \sum_{j=i}^n p_{j-1} \lambda_j \sum_{r=i}^j \delta_{jr} \right|^k < \infty,$$

where

$$\delta_{jr} = \begin{cases} \frac{\mu \left(\frac{j}{r} \right) r}{\varphi(j)}, & r | j \\ -\frac{\mu \left(\frac{j-1}{r} \right) r}{\varphi(j-1)}, & r | j-1 \\ \frac{\mu(j)}{\varphi(j)} - \frac{\mu(j-1)}{\varphi(j-1)}, & r = 1 \\ 0, & \text{otherwise.} \end{cases} \quad (3.9)$$

Proof. Let (s_n) be the sequence of partial sums of the infinite series $\sum x_n$. Consider the sequences $T = (T_n)$ and $\tilde{T} = (\tilde{T}_n)$ defined as

$$\begin{aligned} T_n &= t_n - t_{n-1} & (3.10) \\ &= \left[\sum_{j=1}^{n-1} x_j \left(\sum_{\substack{i=j \\ i|n}}^n \frac{\varphi(i)}{n} - \sum_{\substack{i=j \\ i|n-1}}^{n-1} \frac{\varphi(i)}{n-1} \right) + x_n \frac{\varphi(n)}{n} \right] \quad (n \geq 2), \quad T_1 = x_1 \end{aligned}$$

and

$$\tilde{T}_n = u_n^{1/k^*} (\tilde{t}_n - \tilde{t}_{n-1}) = \frac{u_n^{1/k^*} p_n}{P_n P_{n-1}} \sum_{j=1}^n P_{j-1} x_j \lambda_j \quad (n \geq 1),$$

where

$$t_n = \sum_{j=1}^n x_j \sum_{\substack{i=j \\ i|n}}^n \frac{\varphi(i)}{n} \quad \text{and} \quad \tilde{t}_n = \frac{1}{P_n} \sum_{j=0}^n (P_n - P_{j-1}) x_j \lambda_j.$$

Let $y_n = \sum_{j=1}^n T_j$. By using (3.10), we obtain

$$\begin{aligned} x_n &= \sum_{j|n} \frac{\mu\left(\frac{n}{j}\right) j}{\varphi(n)} y_j - \sum_{j|n-1} \frac{\mu\left(\frac{n-1}{j}\right) j}{\varphi(n-1)} y_j = \sum_{r=1}^n \delta_{nr} y_r \\ &= \sum_{r=1}^n \delta_{nr} \sum_{j=1}^r T_j = \sum_{j=1}^n \left(\sum_{r=j}^n \delta_{nr} \right) T_j, \end{aligned} \quad (3.11)$$

where $\delta = (\delta_{nr})$ is as in (3.9). It follows from (3.11) that

$$\begin{aligned} \tilde{T}_n &= \frac{u_n^{1/k^*} p_n}{P_n P_{n-1}} \sum_{j=1}^n P_{j-1} x_j \lambda_j = \frac{u_n^{1/k^*} p_n}{P_n P_{n-1}} \sum_{j=1}^n P_{j-1} \lambda_j \sum_{i=1}^j \left(\sum_{r=i}^j \delta_{jr} \right) T_i \\ &= \frac{u_n^{1/k^*} p_n}{P_n P_{n-1}} \sum_{i=1}^n \sum_{j=i}^n P_{j-1} \lambda_j \left(\sum_{r=i}^j \delta_{jr} \right) T_i = \sum_{i=1}^n f_{ni} T_i \quad (n \geq 1), \end{aligned}$$

where the matrix $F = (f_{ni})$ is defined by

$$f_{ni} = \begin{cases} \frac{u_n^{1/k^*} p_n}{P_n P_{n-1}} \sum_{j=i}^n P_{j-1} \lambda_j \sum_{r=i}^j \delta_{jr}, & 1 \leq i \leq n \\ 0, & i > n. \end{cases}$$

Then, $\sum \lambda_n x_n$ is summable $|\bar{N}, p_n, u_n|_k$ whenever $\sum x_n$ is summable $|\Phi|$ if and only if $\tilde{T} = (\tilde{T}_n) \in \ell_k$ whenever $T = (T_n) \in \ell$, or equivalently, the matrix $F = (f_{ni})$ maps ℓ into ℓ_k , i.e., $F \in (\ell, \ell_k)$. Thus, from Lemma 3.2, we conclude that

$$\sup_i \sum_{n=i}^{\infty} \left| \frac{u_n^{1/k^*} p_n}{P_n P_{n-1}} \sum_{j=i}^n P_{j-1} \lambda_j \sum_{r=i}^j \delta_{jr} \right|^k < \infty.$$

This completes the proof. □

Corollary 3.8. *The sequence $\lambda \in (|\Phi|, |\bar{N}, p_n|)$ if and only if*

$$\sup_i \sum_{n=i}^{\infty} \left| \frac{p_n}{P_n P_{n-1}} \sum_{j=i}^n P_{j-1} \lambda_j \sum_{r=i}^j \delta_{jr} \right| < \infty,$$

where δ_{jr} is as in (3.9).

Corollary 3.9. Let $1 < k < \infty$. Then, $e \in (|\Phi|, |\bar{N}, p_n, u_n|_k)$ if and only if

$$\sup_i \sum_{n=i}^{\infty} \left| \frac{u_n^{1/k^*} p_n}{P_n P_{n-1}} \sum_{j=i}^n P_{j-1} \sum_{r=i}^j \delta_{jr} \right|^k < \infty,$$

where $\delta = (\delta_{jr})$ is as in (3.9).

Theorem 3.10. Let $1 < k < \infty$. The sequence $\lambda \in (|\bar{N}, p_n|, |\Phi, u_n|_k)$ if and only if

$$\sup_j \sum_{n=j}^{\infty} |b_{nj}|^k < \infty,$$

where

$$b_{nj} = \begin{cases} \frac{u_n^{1/k^*} \lambda_j \Omega_{nj} P_j - \Omega_{n,j+1} P_{j-1} \lambda_{j+1}}{P_j}, & 1 \leq j \leq n-1, \\ \frac{u_n^{1/k^*} \lambda_n \Omega_{nn} P_n}{P_n}, & j = n, \\ 0, & j > n \end{cases} \quad (3.12)$$

and

$$\Omega_{nj} = \begin{cases} \sum_{i=j}^n \frac{\varphi(i)}{i|n} - \sum_{i=j}^{n-1} \frac{\varphi(i)}{i|n-1}, & 1 \leq j \leq n-1, \\ \frac{\varphi(n)}{n}, & j = n, \\ 0, & j > n. \end{cases} \quad (3.13)$$

Proof. Let (\tilde{s}_n) be the sequence of partial sums of the infinite series $\sum \lambda_n x_n$. Consider the sequences (\tilde{T}_n) and (T_n) defined as

$$\tilde{T}_n = \tilde{t}_n - \tilde{t}_{n-1} = \frac{p_n}{P_n P_{n-1}} \sum_{j=1}^n P_{j-1} x_j \quad (n \geq 1), \quad \tilde{T}_0 = x_0 \quad (3.14)$$

and

$$\begin{aligned} T_n &= u_n^{1/k^*} (t_n - t_{n-1}) \\ &= u_n^{1/k^*} \left[\sum_{j=1}^{n-1} x_j \lambda_j \left(\sum_{i=j}^n \frac{\varphi(i)}{i|n} - \sum_{i=j}^{n-1} \frac{\varphi(i)}{i|n-1} \right) + x_n \lambda_n \frac{\varphi(n)}{n} \right] \quad (n \geq 2), \quad T_1 = u_1^{1/k^*} \lambda_1 x_1, \end{aligned}$$

where

$$\tilde{t}_n = \frac{1}{P_n} \sum_{j=0}^n (P_n - P_{j-1}) x_j \quad \text{and} \quad t_n = \sum_{j=1}^n x_j \lambda_j \sum_{i=j}^n \frac{\varphi(i)}{i|n}.$$

By using (3.14), we obtain

$$x_n = \frac{P_n}{p_n} \tilde{T}_n - \frac{P_{n-2}}{P_{n-1}} \tilde{T}_{n-1} \quad (n \geq 1), \quad x_0 = \tilde{T}_0. \quad (3.15)$$

It follows from (3.15) that

$$\begin{aligned}
T_n &= u_n^{1/k^*} \left[\sum_{j=1}^{n-1} x_j \lambda_j \Omega_{nj} + x_n \lambda_n \Omega_{nn} \right] \\
&= u_n^{1/k^*} \left[\sum_{j=1}^{n-1} \lambda_j \Omega_{nj} \left(\frac{P_j}{p_j} \tilde{T}_j - \frac{P_{j-2}}{p_{j-1}} \tilde{T}_{j-1} \right) + \lambda_n \Omega_{nn} \left(\frac{P_n}{p_n} \tilde{T}_n - \frac{P_{n-2}}{p_{n-1}} \tilde{T}_{n-1} \right) \right] \\
&= u_n^{1/k^*} \left[\sum_{j=1}^{n-1} \frac{\lambda_j \Omega_{nj} P_j - \Omega_{n,j+1} P_{j-1} \lambda_{j+1}}{p_j} \tilde{T}_j + \lambda_n \Omega_{nn} \frac{P_n}{p_n} \tilde{T}_n \right] \\
&= \sum_{j=1}^n b_{nj} \tilde{T}_j \quad (n \geq 1),
\end{aligned}$$

where b_{nj} and Ω_{nj} are as in (3.12) and (3.13), respectively.

Then, $\sum \lambda_n x_n$ is summable $|\Phi, u_n|_k$ whenever $\sum x_n$ is summable $|\bar{N}, p_n|$ if and only if $T = (T_n) \in \ell_k$ whenever $\tilde{T} = (\tilde{T}_n) \in \ell$, or equivalently, $B = (b_{nj}) \in (\ell, \ell_k)$. Thus, from Lemma 3.2, we conclude that

$$\sup_j \sum_{n=j}^{\infty} |b_{nj}|^k < \infty.$$

□

Corollary 3.11. *The sequence $\lambda \in (|\bar{N}, p_n|, |\Phi|)$ if and only if*

$$\sup_j \sum_{n=j}^{\infty} |b_{nj}| < \infty,$$

where

$$b_{nj} = \begin{cases} \frac{\lambda_j \Omega_{nj} P_j - \Omega_{n,j+1} P_{j-1} \lambda_{j+1}}{p_j}, & 1 \leq j \leq n-1, \\ \frac{\lambda_n \Omega_{nn} P_n}{p_n}, & j = n, \\ 0, & j > n \end{cases}$$

and Ω_{nj} is as in (3.13).

Corollary 3.12. *Let $1 < k < \infty$. Then, $e \in (|\bar{N}, p_n|, |\Phi, u_n|_k)$ if and only if*

$$\sup_j \sum_{n=j}^{\infty} |b_{nj}|^k < \infty,$$

where

$$b_{nj} = \begin{cases} u_n^{1/k^*} \frac{\Omega_{nj} P_j - \Omega_{n,j+1} P_{j-1}}{p_j}, & 1 \leq j \leq n-1, \\ u_n^{1/k^*} \frac{\Omega_{nn} P_n}{p_n}, & j = n, \\ 0, & j > n \end{cases}$$

where Ω_{nj} is defined by (3.13).

REFERENCES

- [1] H. Bor, Some equivalence theorems on absolute summability methods, *Acta Math. Hungary* 149 (2016), 208-214.
- [2] H. Bor, On two summability methods, *Math. Proc. Cambridge Philos Soc.* 98 (1985), 147-149.
- [3] G.C. Hazar Güleç, Summability factor relations between absolute weighted and Cesàro means, *Math. Methods Appl. Sci.* DOI: 10.1002/mma.5399.
- [4] S.M. Mazhar, On the absolute summability factors of infinite series, *Tohoku Math. J.* 23 (1971), 433-451.
- [5] M.R. Mehdi, Summability factors for generalized absolute summability I, *Proc. London Math. Soc.* 10 (1960), 180-199.
- [6] K.N. Mishra, Absolute Summability Factors of type (X, Y) , *Proc. Amer. Math. Soc.* 122 (1994), 531-539.
- [7] R.N. Mohapatra, On absolute Riesz summability factors, *J. Indian Math. Soc.* 32 (1968), 113-129.
- [8] C. Orhan, M.A. Sarıgöl, On absolute weighted mean summability, *Rocky Mount. J. Math.* 23 (1993), 1091-1097.
- [9] W.T. Sulaiman, On summability factors of infinite series, *Proc. Amer. Math. Soc.* 115 (1992), 313-317.
- [10] W.T. Sulaiman, On some absolute summability factors of Infinite Series, *Gen. Math. Notes* 2 (2011), 7-13.
- [11] M.A. Sarıgöl, Extension of Mazhar's theorem on summability factors, *Kuwait J. Sci.* 42 (2015), 28-35.
- [12] G.C. Hazar Güleç, M.A. Sarıgöl, On factor relations between weighted and Nörlund means, *Tamkang J. Math.* 50 (2019), 61-69.
- [13] M.A. Sarıgöl, On the local properties of factored Fourier series, *Appl. Math. Comput.* 216 (2010), 3386-3390.
- [14] M.A. Sarıgöl, On two absolute Riesz summability factors of infinite series, *Proc. Amer. Math. Soc.* 118 (1993), 485-488.
- [15] T.M. Flett, On an extension of absolute summability and some theorems of Littlewood and Paley, *Proc. London Math. Soc.* 7 (1957), 113-141.
- [16] I. Schoenberg, The integrability of certain functions and related summability methods, *Amer. Math. Monthly* 66 (1959), 361-375
- [17] M. İlkhani, E.E. Kara, A new Banach space defined by Euler totient matrix operator, *Oper. Matrices* 13 (2019), 527-544.
- [18] M. Stieglitz, H. Tietz, Matrix transformationen von folgenräumen eine ergebnisübersicht, *Math. Z.* 154 (1977), 1-16.